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| Guldition and, Subtraction within 1.000 |

B After this subunit, students should be able to

§ 1 Round numbersto the nearest 10 and 100

2. Estimate sums or differences based on rounding
3. Add digits in each place value correctly

4. Subtract correctly without regrouping

| 5. Subtract correctly with regrouping

¢ Student friendly I Can statements

1. I can round numbers to the nearest 10

2.1 can round numbers to the nearest 100

3. I can estimate the sum or difference of two numbers

4. I can add and subtract within 1,000

& \ocabulary:

Pattern Commutative property of addition
Estimate Associative property of addition

Round Identity property of addition
Compatible Numbers
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| Pattern i

An ordered set of numbers or Ob eclTsin
Iwn|cn the order heips you predct what wil
come nexT

oo a it

Ex: 2, 4, 6, 85 10- 12, 14, 16, 18, 20

L o e e e —
| Estimate I
. A number close To an exact amount :

Maybe thére
ae250r30in
the jart

Jar=2/
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Commutative Property of
Addition !

I YOU can add Two or more nNumbers in any I
order and get the same sum .

| e = e e |
.. L
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Associative Property of
Addition !

| You can group addends in different ways |
_ and stil get the same sums.

i (5+3)+4 = (4+5)+3
_ (8)+4 = (9)+3 I
: 12 = 12 :
T - - I i
Identity Property of '

Yy rroperly
Addition !

| When you add zero 1o any number, the |
resuIT s That number
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| Compatlble Numbers I

-Numbers that are easy o compute:
mentaly |
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AddiTion and Supbtraction To 1000 Pretest

Name:

| During back To school shopping Anifa's mom noticed That there were 248 parking
gpots open at the store. There were 153 filed, how many Tota spots were in the
loT?

A M5 spots B. 53 spots
C. 34 spots D. Y5 spots

2. The art closs colected 197 pencis from second grade and 765 £rom third grade.
HOw many pencis dd The art class colecT in al?

A 962 penciis B. 852 pencis
C. 568 pencis D. 24 pencis

3. There were 450 nonficTion books and 86l fiction books in The liorary. How many
nMore Pooks were fiction Than nonfiction?

A.128/D00ks B. Hlbooks
C. 395 books D. 32 books

4. Mr. Jones had H5 pizza slices To give out at lunch. i only 67 students wanted
pizza, how Moy pizza slices would he have lef17?

A 122 slices B. 202 slices
C. /8 slices D. 88 slices

5. Jacob has 753 basebal Trading cards. His £riend, Kevin, gives him 199 more £or his
birthaay. How many basebal cards does Jacob have now?

A 952 caords B. 554 cards
C. 842 cards D. 852 cards




6. To get To school, Samantha counts her steps. She Ttakes 423 steps on Monaay.
She takes a different route To school on Tuesday and only counts 384 steps. How
maony more steps dd she Take Monday than Tuesday?

A 82 steps B 166 steps
C.134 steps D. 34 steps

7.0n Friday, SH gris wore green 1o school and 34d boy's wore green To school,
How many mMore girls Than boys wore green To school on Fricay?

A. 208 gris B.192 gris
C. 840 gris D.92 grlis

8.0n The firsT week of schodl 385 students brought Their lunch. On tThe second
weeK Of schod, IA3 sTtudents brougnt Their Iunch. What is The besT estimate of
how MaonNy sTudents brought Their lunch The firsT ond second week Of schoaol?

A. 500 students B. 600 students
C.100 students D. 200 students

d The toy storeis Trying To sel dl The dols in tThe store. If They sold 329 dolis on
Saturday, how many more do they need To sel To be out of their 489 Total dolis?

A. 160 dolis B. 818 dolis
C. 60 dols D. 769 dols

0. Bree got a score of 430 in Yatzee and Moly got a score of 221in Yatzee. What
is The best estimate of how many points Bree beat Moly by?

A 100 ponTs B. 600 ponts
C. 200 points C. 300 ponts




IH3 Match The correcT letter of the definition with The correct Term.
ldentity property a.5+3=3+5
Associative property D.6+0=6
commutative property CH+3)+2=3+2+4)

H-16 Round The numbers To The nearesT TEN

® \Workspace




| During back To school shopping Anitars mom noticed That there were 208 parking

gpoTs open at the store. IF IS3 of Them were filed, how maony Tota spots werein § ‘
The loT? ’

A M5 spots B. 53 spots
C. 34 spots D. Y5 spots

2. The art class colected [d7 pencis £rom second grade and 765 f£rom Tthird grade.
How many pencils dd The art class collecT in al?

A 962 pencis B. 852 pencis
C. 568 pencis D. 24 pencis

3. There were 450 nonfiction books and 8al fiction books in The liorary. How Mmaony
Pore POOKS were fiction Than nonfiction?

A.128/D00Kks B. 4l books
C. 395 books D. 3l2 books

H Mr. Jones had HS pizza slices To give out at lunch. i only 67 students wanted
pizza, how many pizza slices woud he have lef1?

A 122 slices B. 202 slices
C.78 slices D. 88 slices

5. Jocob has 753 basebal Trading cards. His £riend, Kevin, gives him 199 more £or his
pirthday. How many basepal cards does Jacoo have now?

A. 452 cards B. 554 cards
C. 842 cards D. 852 cards




6.To get To school, Samantha counts her sTeps. She Takes H23 sTeps onMonday.
She takes a different route To school on Tuesday and only counts 38d steps. How'
many mMore steps did she Take Monday than Tuesday? 3

A 82 sTeps B.166 sTeps
C.I34 steps D. 34 steps

7.0nFriday, 54 gris wore green To school and 344 boy's wore green To school
How many more girls tThan boys wore green To school on Friday?

A. 208 gris B.192 giris
C.890 grrls D. 92 girls

o L 8.0nThe first week of school 385 sTudents brought Their lunch. On tThe second
week Of school, [A3 students brought their lunch. What is The best estimate of
how mMany students brought therr Ilunch the first and second week of school?

A. 500 students B. 600 students
C.100 students D. 200 students

., d The Toy storeis Trying To sel dl The dols in The store. I They sold 329 dolis on
Saturday, how many more do they need To sel To be out of Their 484 total dolis?

A.160 dals B. 818 dols
C. 60 dols D. 764 dols

I0.Bree got a score of 430 in Yatzee and Moly got a score of 221in Yatzee. what
i The besT estimate of how Mmany points Bree beat Moy by?

A 100 ponTs B. 600 ponTs
C. 200 ponts C. 300 ponts




-3 Match The correct letTer of the definition with The correct term.
B identity property 05+3=3+5

C_ Associative property b.6+0=6

A commutative property CH+3)+2=3+2+4

B [H-I6 Round the numbers To the nearest TEN

.7 470480 813 800 H5 50
B [7-20 Round the numbers To The nearesT HUNDRED
: 932 900 712700 55 200

workspace:
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Number patterns-]

Define The identity properTy of addition:

Define The commuTtative properTy of addiTion:

Write 8 different
Write the commutative equations that show

problem of each example the identity property
below. Then solve the of addition:

problem

+ | +

+

+
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Place | different numbers in each box That would
round To That numper:

300

EXplain in your own words how To round To The nearest I0:

EXplain in your own words how To round To The nearest I00:




Estimate the folowing answers by rounding To tThe nearest
00 and rounding to the nearest I0. Solve.

Round to nearest 10 Round to nearest 100

B How does estimating sums help you when doing math?

B \why is This skil importont?




Show 48 + 12 using
compatible numbers

Show 857 + 18 using
compatible numbers

Show 88 + 33 using
compatible numbers

Show 16 + 27 using
compatible numbers

=% Are compatible numbers or using a number line easier £or you 1o
P understand? Explain:




Define The associative property of addition:

Solve each problem. Then write AssociaTive,
commuTaTive, or Identity nexT To each problem.

property




HOw do you bredk apart a three-digit number?

Solve by breaking apart the Three-digit numbers and adding.

683 + + 871 + +

+450 + + + +649 + + +

908
+537

IN The fFollowing problems, someThing went wrong Fix The
proplems and explain how To correct Theml

929 900 + 200 + 90

+452 +400+ 50+ 2

1300 +280 + 9R = 1642

Explain what happened:

300 +90 + 9
+508 +800 + 80 + 0O

800 + 170+ 9=2870
Explain what happened:




HOwW do You Know when To regroup when adding?

Write three dif ferent addition proplems That would reguire you 1o
regroup in The Tens or hundreds place. Then solve.

1. & . 3.

Solve The folowing quesTtions. Place a star next To The
proplems That required you To regroup.

182 885
+178 t141




Estimate the folowing answers by rounding To tThe nearest
00 and rounding to the nearest I0. Solve.

Round to nearest 10 | Round to nearest 100

8 How does estimating differences help you when doing math?

& \Why is This skil mporTant?




Use The number line To count by Tens and ones To £ind 65-18

Use The number line To count by tens and ones 1o find /2-39

Show 48 - 12 using Show 87 - 18 using
compatible numbers compatible numbers

Answer The folowing word problemy

Alex and his friend, Nathon, were playing with tTherr Toy cars. Alex had 344 cars and
Nathon had 288 cars. How many more cars dd Alex have Than Nathon?

Show your work:

what KEY WORDS helped you know That you were supposed TO
supTracT in This problem?

what other KEY WORDS are associated with suotraction?




HOW dO You Know when To regroup when suptracting?

write Three different supbtraction proplems That would require you ?;

TO regroup in The Tens or hundreds place. Then solve. . ’

1. & . 3.

| DO you need To regroup when suotracting 484 £rom

Wox How do you know?

Suppose we have anew student in our classroom. Show and| @
¥ | explain To this student how To subtract 659 from 8l. Moke
sure To show ALL steps of your problem.




ESTimate each answer, Then solve

Estimate: Estimate:

Estimate: 20 g Estimate:

Steve was solving the following problem: Sam and John were running.
Sam ran 973 feet and John ran 878 feet. How many more feet did Sam
run than John?

Steve’s work: 878
- 973

Was Steve correct?




78 |John solved The Following problem: Jack and Jil fook 195
',: STGDS up a hil and /84 STGDS down The other side of The hill.
How many steps did They take in all?

Jonm's Work: ls John correct?
189 ..
195 Solve the problem Fixing John's

614 mistokes:
Jack and Jill went 614 steps.

SOolve:

Anna sold 182 CDs at her Kathy went to the mall and
shop on Monday. She sold 78 bought a toy for $143 and
fewer CDs on Tuesday. How then went to the amusement

many CDs did she sell on park and spent $388. How

Tuesday? much money did Kathy
spend at the mall and park
combined?




Number patterns-]

Deflne The identity propenty ot addition:
I you add zero to any number you wil be left with
the same number you added to zero

Detfine The commutative property ot addition: You
can switch around the numbers In an addition problem
and stll get the some answen,

Write 8 different
Write the commutative equations that show

problem of each example the identity property
below. Then solve the of addition:

problem

7+ 5| 1

2 + 8 10 Possible answers:

8+0=28
9+8 |14 0+12=123

+1| 4 20 + 0 =20

O+2=2
9+0=9

7+4| 11
1+ | 3
4 +8| 18
6 +9

O OO PR | N0,
DI PP I WO




Floce 4 different numbers in each box that would
round To That numbenr.

840 300
841, 84, 839, 838, 843 || 308, 99, 301, 303, 304

120
119, 118, 117, 121, 122

Explain in your own words how To round To The neorest 1¢: You look at
the number In the ones place. I111 Is over 4 you round up., If 1T Is less
than 5 you round down.

Explain n your own words how To nround To The nearest 10¢: You look ot
the number In the tens place. It Is over 4 you round up, I 1T is less
Thon 5 you round down.
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Eetimate the Tolowing answenrs by rounding To The neorest 1090
ond rounding To the nearest 10. Solve.

Round to nearest 10 Round to nearest 100

»80 800
+130 +100
890 900

580 500
+230 +200
780 700

200 200
+610 +600

810 800

600 600
+430 +400
1030 1000

8 How does esTimoting sums help you when doing math? Possible An-
B8 swer: Tt helps me to get an answer close to the answer so T can check
2y work

¥ iy e this kil mportant? Possible answer: This skill is important so

¢ When I check my work T know if it is close t0 the correct answer. It al-
S0 is important in the real world when I am trying t0 solve math prob-
lems quickly.

= e - ,. - 2 S y g = T e ;
MO I [ AC e #



Use The numbenr ine To count by Tens and ones To find 45 + 32

+10 +10 +10 +1 +1

35 65 78 76 77

Use Tthe numbenr line To count by tens and ones to find 36 + 26

+10 +10 +8 +1

46 56 6l 62

Show 48 + 12 using Show 857 + 18 using
compatible numbers compatible numbers

48 + 2 = 50 57 + 3 =60
50 + 10 =60 60 + 5 =65
65 + 10 =75

Show 88 + 33 using Show 16 + 27 using
compatible numbers compatible numbers

88 +2 =90 16 + 4 =20
90 + 1 =91 RO + 3 =23
91 + 80 =121 RS + 0 =43

Are compatible numbers or number ine easier Tor you to use?  Explain:
Answers Vary




1d-15

@ Deflne The associative property of addition® You can switch
§ the numbers around and still get the same answer

Solve each problem. Then wnite Associative,
Commutative, on Tdentity next to each problem.

(8+7)+8=20
Associative property

10+ 0=10
Identity property

12 +4=4+12=16
Commutative property

(1 +4) + 3=19
Associative property

(16 + 9) + 4= 29
Associative property

O+25=28
Identity property

18+4=4+18=22
Commutative property

O+17=17
Identity property

(1+8)+12=21
Associative property

13+ 10=10 + 13= 28
Commutative property




How do you bredk opart a three-digit number? YOU take the
hundreds, tens, and ones and Split them into their own Sec-
tions. EX: 95215900+ 00 « 2

Solve by brecking apant the Three—digit numbers and adding.

653 600 + 50 + 3 871 800 + 70 + 1
+450 +400 + 80 + O +649 +600 + 40 + 9
1103 1,000 + 100 + 3 1,520 1400 +110+10

812 800 + 10 + 2 908 900 + 00 + 8
+782 +700 + 80 + 8 +537 +500 + 30 + 7
1594 1500+ 90 + 4 1445 1400 +30 + 15

In The folowing problems, something went wrongl Fix the problems and explain
how To correct theml

929 900 + 200 + 90 Fix It: 900+ 20 +9
+452 +400+ B0+ 2 $400+60+ 8

1300 + 70 + 11= 1381
1300 + 280 + 92 = 1642

Explain what happened: The problem is wrong because the top tens
place is marked as & hundred with two zeros when it only needs 1
zero to make it 0.

399 300 + 90 + 9 Fix It: 300+ 90 + 9
+508 +800 + 80 + 0O *500+ 00+ 8

800 + 90 + 17= 907

800 + 170+ 9=870

Explain what happened: The tens place in the bottom number
should have been O, not 80. The ones place marks the 8 instead of
the tens place. They also added the numbers incorrectly when sol-
vin the final problem.




How do you know when to regroup when adding? You have 1,0 re-
group when there is more than ten in one place value

Write Three different addition problems tThat would reguire you
To regroup In the tens on hundreds place. Then solve.

1. & . 3.

Answers Vary Answers Vary Answers Vary

Solve the Tolowing questions. Flace a star next To The problems
that reguired you To regroup.

8865

182
* *+141

+178
260 1,026




Eetimate the Tolowing answenrs by rounding To The neorest 1090
ond rounding To the nearest 10. Solve.

Round to nearest 10 | Round to nearest 100
460 500

- 340 - 300
120 200

700 700
- 420 - 400
&80 300

670 700
- 890 - 600
80 100

200
- 100
100

| How does estimating dif'fenences help you when doing maoth? ESti-

B mating helps by getting an about answer before trying to solve for the
B real answer. It helps you know if you are doing the problem correct or
% not

:v;,:; b Why is this ekil importont? IS important to be able to check your work
' or tell your brain you did the problem incorrect. Tt alSo helps when do-
. ing real world math.




How do you know when o regroup when subtracting? YOU I'é-
group when subtracting when the top number is smaller than

the bottom number

Write Three different subtrocTtion problems that would reguire
you To negroup In The Tens or hundreds ploce. Then solve.

1. & . 3.

Answers Vary Answers Vary Answers Vary

B8 Do you need To regroup when subtracting 489 fhom 6122
B Yes. How do you know? I know because the 9 is larger
B than the 2 in the ones place and the 8 is larger than
B thelin the tens place.

Suppose we have a new student in oun classroom. Show ond
explain To this student how to subtract 659 fhom &11. Moke
sure To show ALL steps of your problem.

Firet set the problem up with the lanrger number on Top
11
—659
Then borrow fhom the & moking It a 7. Make the 1 In the tens place an 11
and then borrow agaln to moke the tens place a 18 and the ones place
11.
11-9 =2 Cones place,, 10-5=5 Ctens place)., and 7-6=1 Chundreds ploce?
152 Is the answenr




Use The numbenr ine To count by Tens ond ones to find 65-18

-10 -5 -3

P
<«

63 55 50 47

Use Tthe numbenr line To count by tens and ones to find 7/2-39

-10 -10 -10 -5 -4

P
<«

7e 62 52 42 37 33

Show 48 - 12 using Show 87 - 18 using
compatible numbers compatible numbers

48 - 10 = 38 87-10=47
38 - =36 47-7 =40
40-1 =39

Answenr the folowing word problem:

Alex ond his Thiend., Nathan., were plagyng with their Toy cars. Alex had 349 cars
and Jason had 288 cors. How mony more cars did Alex have Than Jason? 61 cors

Show your work:

Whot KEY WORDS helped you know That you were supposed To
subtract In This problem?  How mony more

What other KEY WORDS are associated with subtroction? Mnus. subtroact., Take
awous left, stil, leave, fewer., decreose, difference




EsTimate each answenr., Then solve

Estimate:_100

617
-542
78

Estimate:_200

818
-636
179

Estimate:_30 Estimate:_50

313
-288
&5

Steve was solving the following problem: Sam and John were running.
Sam ran 973 feet and John ran 878 feet. How many more feet did Sam
run than John?

Steve’s work: 878
- 973

108
Was Steve correct? No

Correct Steve’s work: 973-878= 95

Explain, in words, how you would teach Steve to do this problem: Steve
needs to put the larder number on the top, then subtract. He needs to bor-
row from the hundreds place to complete his problem.




John solved the folowing problem: Uack and Uil Took 195 steps up
a hil ond 789 steps down the oTher side of the hil. How many
steps did they tcke in dl?

John's Work:

189
-195
614

Jack and Jill went 614 steps.

Ts John correct? No
Solve The problem TIxing John’s
misTakes:

789
~195

609 180
D + 0+ 9
~190 + 99 + 5
500 + 99 + 4 =594

Solve:

Anna sold 182 CDs at her
shop on Monday. She sold 78
fewer CDs on Tuesday. How

many CDs did she sell on

Tuesday?

182- 78 =104

Kathy went to the mall and
bought a toy for $143 and
then went to the amusement
park and spent $388. How
much money did Kathy
spend at the mall and park
combined?

143 + 388 = 531
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EQrn 4 STars

& ¢ lsolvedmy problem using an effective
| strategy &7
B <My explonation was very clear. It includedmy ¥
§  workandwhatldd
& -1 explaned why | chose The operation or

o strategy | used

B ¢l effectively used math words

1.1- Number Patterns

1.2— Round to the Nearest Ten or Hundred

1,3— Estimate Sums

1.4—- Mental Math Stratedies for Addition

1.5—- Use Properties to Add

1.6-Use the Break Apart Strategdy to Add

1.7-Use Place Value to Add

1.8- Estimate Differences

1.9- Mental Math Strategies for Subtraction

1.10-Use Place Value to Subtract

1.11- Combine Place Values to Subtract

1.12— Model Addition and Subtraction
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| lhope Jou and your stdents enjoy using this
product. Thanks a bunch!

\ Jenma of Uae \
*This product and it's content is copyrighted. You may not copy or
modify any part of this document and use it as your own.

*You may use this item for your personal use or for the use in one
classroom. If you want to share with other teachers, please purchase an
additional license in my TPT store.

*1If you choose to write about this product on a personal website please
give credit back to the original product.
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